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QUESTION 1

What does the filled-in shape icon shown below indicate in Team Artifacts view? 

A. Files in that component have been checked out. 

B. All files from that component have been loaded into a local sandbox. 

C. There are incoming changes in that component. 

D. There are outgoing changes in that component. 

Correct Answer: B 

 

QUESTION 2

What is the repository workspace? 

A. a server-side entity that tracks items that have been placed under source control 

B. a local workspace that holds a copy of specific sets of file versions that are stored in Rational Team Concert 

C. the Eclipse workspace used when Rational Team Concert is launched by using the Eclipse client 

D. the local copy of the latest file versions on a Rational Team Concert stream 

Correct Answer: A 

 

QUESTION 3

Which format is used to download the results of a work item query in the web client? 

A. .docx 

B. .html 

C. .pdf 

D. .csv 

E. .odp 

Correct Answer: D 
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QUESTION 4

When using the Scrum process template for a project, which two work item types would one expect to see on a Product
Backlog? (Choose two.) 

A. task 

B. milestones 

C. defect 

D. epic 

Correct Answer: CD 

 

QUESTION 5

Which two items/objects can own a component? (Choose two.) 

A. A user 

B. An iteration 

C. A source file D. A team area 

Correct Answer: AD 
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